Al £ Gl & AL & Al A

SN MBS
I SN0 P22 AGIEE +EINM
Bl SteHelAE 25 (Gt AY SE) (=S AISSE3H) (Che 2l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ot it 1,704,380 1,342,380 362,000
= 517,000
== 172,000
[Ea 1,015,380
SEXQ A2 dote =2 1,704,380 1,342,380 362,000
2 517,000
= 172,000
2 1,015,380
SteHelAlE BE(SHTAY SBalH)(GHCAISS 1,704,380 1,342,380 362,000
313)
= 517,000
< 172,000
Ea 1,015,380
St=MelAlE =Xzl 782,380 782,380 0
101 @124H| 5,000 5,000
M ORIMZZ2NSE S 5,000 5,000
O8&ot= AlE =8 del & A=Y
2,500,000 *23] 5,000
201 eer23| 291,500 371,500 80,000
01 AtR2t2lHI 87,500 87,500 0
Os&otE AL 2357 HRFA =S¢
] 3,000
Odt=c8 2 228 7 4,500
O&&ot=k 2ERXel 80,000
2 s5=34l 204,000 284,000 80,000
O8&ot=k AlE &)| & S 23 192,000
—335t=E A ®IIR3
92,9003 x 1400 A+ 128 156,072
—330t=E ANE SRS
39,9203 *752| &+ 123 35,928
O&sitg FAl2c 12,000
—AsSk =50 4,000,000 <2CH 8,000
— S =Al2 2,000,000 *2CH 4,000
202 04| 3,000 3,000
01 =LHO LI 3,000 3,000
OZ3ot=x A& |XI2el ol 3,000
401 AIZHIZ SO 482,880 402,880 80,000
01 Al&HI 480,000 400,000 80,000
O225t=T A& |XI2e] 480,000
03 AIZ S THYI 2,880 2,880 0
Odt=XelAld =Xl2t
400,000,000& +0.72% 2,880
ot Al EE Rt 10,000 10,000 0
201 2= 10,000 10,000 0
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B 520l 2|2 ASlET SEA
Bl SteHelAE 25 (Gt AY SE) (=S AISSE3H) (Che 2l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 10,000 10,000 0
OXXIA M= 10,000
ots== Bi=&H| EXISAH 50,000 50,000
401 Al HIY S CHYI 50,000 50,000
01 A28l 50,000 50,000
Obi=&Hl EXISAt 50,000
S3otrXelAE SE & A 862,000 500,000 362,000
= 517,000
= 172,000
Ea 173,000
401 AIEHIX 20HH 862,000 500,000 362,000
= 517,000
= 172,000
= 173,000
01 Al&H| 862,000 500,000 362,000
Oz S3ot-XelAlE S & HEAY 362,000
= 217,000
< 72,000
s 73,000
O S3ot=relAlE S & HEAY 500,000
= 300,000
< 100,000
s 100,000
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